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 This technology is a solution to the current conundrum America is facing.
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First, for each sentence, underline all the to be verbs; some sentences have more than one. 
Second, in some of the sentences, unnecessary to be verb constructions cause confusion. If 
the sentence is confusing and the to be verb should be cut, revise it to clarify the idea without 
losing meaning. Are there any to be verbs that must remain? If so, explain why the to be 
verb(s) is/are necessary.  
 

Please note, because revising to be verbs deals with style more than grammar rules, there 
may be multiple revision options although you will see only one option in the answer key. 
Compare your revision to the answer and determine if one is more effective. One way to do 
that is to determine which revision has fewer words but still maintains the original sentence's 
meaning.  
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